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Shipper B

ASCENDING AUCTION
Example of Allocation of Storage Capacity

Shipper C
Shipper D

Final average price = the average of the prices from the last 
and the penultimate round weighted by the allocated capacity

30 GWh
Will be re-allocated

90 GWh

Total offered capacity 100 GWh

Request in GWh

Round 2 Round 3 Total
capacity

Final average price
[CZK/GWh]

Shipper A 0 30 30 8,00 (0*6+30*8)/30

Shipper B 7 20 27 7,48 (7*6+20*8)/27

Shipper C 3 20 23 7,74   (3*6+20*8)/23

Shipper D 20 0 20 6,00 (20*6+0*8)/20

Requests satisfied in 
the last (3rd) round

Re-allocation based on 
unsatisfied requests in 
the the penultimate 
round

Allocated Storage Capacity and Price




